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BECC-108 : INTERMEDIATE MICRO-
ECONOMICS—II
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Note : Answer questions from each Section as per

the given instructions.

Section—A

Note : Answer any two questions from this Section.

Each question carries 20 marks. 2x20=40

1. (a) What 1s price discrimination ? Explain
about two-part tariffs as a form of price

discrimination. 8

P.T.O.

(b)

(a)

(b)
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In an annual cultural fair the organiser
follows two part tariff pricing mechanism.
Suppose :
AC=MC=8

Market Demand Curves : Qi = 80 — P;
Q2 =80 — 2P>
(1) What will be fixed one time fee

provided by O¢’s solution ? 8

(1) Calculate monopolist’s profit 4

What is market failure ? What are the

different methods to correct market failure ?

12

Explain the social loss due to negative

externality with the help of a diagram. 8

In a Cournot duopoly model, firms A and B

produce output Qa and QB respectively. Let

market demand curve be :
P =60 - Q (where Q = Qa + Qp)
Marginal cost : MCa = MCg = 40

(a)

(b)

Derive the reaction curves of firms A
and B. 8

Calculate the Cournot-Nash equilibrium

quantity produced by each firm. 6
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(¢) Derive the equilibrium price and profits at

firm level and industry level. 6

4. Define general equilibrium in an economy with
perfect competition in product and factor
market. Clearly state all the conditions for
existence of such an equilibrium. 20

Section—B

Note : Answer any four questions from this

Section. Each question carries 12 marks.

4x12=48

5. Following is a normal form of game in which
each player has two strategies (cheat and don’t
cheat) :

Player 2
Cheat Don’t
cheat
Player 1 Cheat 3, 2) 9, 1)
Don’t 2, 6) (7, 4)
cheat

(a) Determine Nash equilibrium in pure

strategy. 5

P.T.O.

10.
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(b) Write the game in an extensive form. 4
(¢ Is this any dominant strategy
equilibrium ? 3

What is a social welfare function ? How 1is
Bergson-Samuelson’s social welfare function

different from Benthamite welfare function ?

3,9

A monopolist firm faces a demand curve :
P(Q=10-Q
TC =2Q + Q2
where P = price, Q = quantity, TC = Total cost.
Calculate the deadweight loss. 12
Distinguish ~ between the monopolistic

competition and that of perfect competition

using diagram. 12

Explain principal-agent problem. Derive the

equilibrium under moral hazard problem. 12

For the following demand curve :

P=a-3band MC=3
find the equilibrium price, quantity and profit
under the Stackelberg model. 12
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11. Discuss the role of government in provision of

public goods. How can optimal provision of

public goods be achieved ? 12

Section—C

Note : Answer all questions from this Section. Each

question carries 6 marks. 2x6=12

12. Write short notes on any two of the following :

13.

()
(b)
(©)
(d)

3 each

Rawls’ social welfare function
Natural monopoly
Selling cost

Bertrand’s paradox

Differentiate between any two of the following :

(a)

(b)
(©

(d)

3 each

Marginal cost pricing and average cost
pricing
Zero sum and non-zero sum games

Perfect competition and monopolist

competition

Signalling and screening in game theory

P.T.O.
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2.
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<R G177 9% Q, =80-F;, Q,=80-2P,
(i) . STE. & GHIMH N YA fer uw-
AT Teh F BN ? 8

(i) USHIHH & N9 I T His@l 4

(F) AR faFeaar &1 2 ¢ ? aR fawerd

FAFFE D AT FNET 2 12
(@)@ &1 TeFal ¥ JhRds Seas &

FRU] BH Al GHEISR ThEHl i SHRE

e 8
F FAUHR A9 (model) & A=<Fid A el
B A& & HH HEAN: Q, TAT Qp IEA Hidl
g1 g oifST SeR A1 9% 39 YHR ®

P=60-Q (S8 Q=Qa+Qs)
AT &Md MCa = MCg = 40
(F)HH A o1 ®H B & Ufdfhar o a4
(derive) ShifU| 8

P.T.O.
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(@)9F ®H BN IAMEd HA-39 Tqe T

1 TUMET SifSa| 6
() ®H qq 3TN F T W g<Iod higd Td

A 1 T HITST| 6

. SARA q |WEH o)k ° 9o gfqafar & ®d

BU HHR U< 1 AR hiSe] 39 YRR &

e & A § o9 ®H & fau 39 g4

vl 1 a2y FET U oTEvasd e &1 20

gues—d«

T : 39 @ue ¥ fHll o g & ISW S

q&F G 12 3FT FT el 4x12=48

. Frefafed & od 1 9m= w9 © N9E TS

faerel & 9oy € wEHAfdar © (¥ = A
a7 A1)
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faarEl 2

HiEr <91 | iEr 9 e

faemel 1 | «rar &= (3, 2) 9, 1)

i 7 2| (2, 6) (7, 4)
(®)faers wEHfa & S S<ern w1 fuio
HIFST 5
(@)7Id & 98 w9 ¥ fafed 4
() &1 IS Yol I G € ? 3

gt &9 Ted #1827 S -SsTedd

qmee 81 Fed 69 YR aUmEe 89 Her

g fy= 22 3,9
THIHIRE ®H & 994 T 9% =6 TFR ¢
P(Q=10-Q
TC = 2Q + Q2

Sl P = ®I9d, Q= |E, TC = el @I

favrs 81 (deadweight loss) &1 3Tehed hifaT|
12

P.T.O.

8.

10.

11.

12,
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Efas T G HY THIEhIRe Ffaaifiar qen
o gfqaifiar & &= =R aqEd| 12

~

~ fo 'y oW oS )
SAHI-SAHendl  AHA| a'ﬂ' Al <hISU| H[dh

SfEH 99& % ded 9 il qcd=1 Hifou|
12
fr=fafaa °im 9% & fau

P=q—3b 9 HH @ = 3

Y ) s ~
Lo Higd % ded gfeld hiHd, T qen

oY i G HIfU] 12

TreSieh gl & YEHE H YRR i fHeRT

1 g9 wifoel 7Y YR gEsiae a8 &

IR YEHH 1 9 fRal ST Gehdl € 2 12

g ue—T

T : 3@ @e ¥ g gl & I dfeul 9w

9 6 3HF @ B 2x6=12
frafafea & 9 fosl &t w ofw fewfrr
fafau . TIF 3

(%) Tcd k1 GHISH &H HoH
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(W) Yrehideh UehITHhR

() fosrg @
(%) a2vg & fagumarg

13. Fefafed @ f&= 2 & &9 =R ad=d
TF 3

(%) 99 oFd $Had don  siEd rd
EAEGE

(@) o= A Td a4 R-v= AN wTd
() ol gfqafirar den uehifeertRer gfaaifia

(9) Td f9g ° Yohad T S
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